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Investigating the Associative Property
Find the products:

1. 
(2 × 3) × 4 = _______


2 × (3 × 4) = _______

2. 
(3 × 5) × 2 = ________ 

3 × (5 × 2) = ________
3. 
(2 × 5) × 4 = ________   

2 × (5 × 4) = ________   
4. What happened in the above problems #1, 2 and 3 when you changed the grouping of the numbers being multiplied (when you moved the parentheses)? 
Divide:

5. 
(18 ÷ 6) ÷ 3 = ________

18 ÷ (6 ÷ 3) = ________


6. 
(24 ÷ 4) ÷ 2 = ________

24 ÷ (4 ÷ 2) = ________
7. What happened in the above problems #5 and #6 when you changed the grouping of the numbers being divided (when you moved the parentheses)?
8. An operation is associative if the grouping does not matter.  
Is multiplication associative? _____________        Is division associative?  _____________
Find the products.  Use the associative and commutative properties to regroup and change the order of the numbers being multiplied.  Show work.
9. 
 8 × 2 × 5 =  _______


 3 × 8 × 3 =  _______



Challenge problem:  Insert an addition, subtraction, or multiplication sign in the blanks to make the number sentence true. 

a.     2 ______ (8 ______ 5) ______  4 = 10
b.     2 ______ (8 ______ 5) ______  4  = 38

